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Evaluate SSS extytz dV

Remarks 1 Onemay use symmetry x y z X 9 2 to reduce

half but not to the 1ˢᵗoctantusing reflections

since forinstance

Xty zc Xty Z under XY Z x y 71

i Xty Z is not symmetric in all reflectionswithrespect

to the coordinates lines

4 Ofcourse onemaycalculate directlywithout changingvariables
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Hence the 3points 1,11 1 1,1 1 1 1 are on the boundary

plane U Utw 1 of B
Since plane determined by 3 points so n Utw 1

is theplane passing through these 3 points
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Symmetry C B

Thesolidforthe integrationC is determinedbythe 4 points
C 1 1 1 f 1 1 D 1,1 1 1 1 1

Finally Sffixtytz dV A B C 2.35 385


